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ED-2027

" B.Com. (Part-II) Examination, 2021

Compulsory
Group - III

Paper - 1

Business Statistics

Time : Three Hours] [Maximum Marks : 75
SICHEEE 1 R M- T cac i L s b e | Bl
o |
Note : Answer all questions. All questions carry equal
marks.
THE / Unit-1
1. R 3 owH & 1w TR wfed e
HIFST |

Write down the rules of sigma X operation

with suitable example.

3744r / OR
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frafafaa el ¥ sgas A I :
Hh
(8 ®H) | 10 | 20 | 30 | 40 | 50
IEEIER
w oHE | 3| 8 [ 1720 |22
Calculate Mode from the following
data :
Marks
(Less than) | 10 [ 20 | 30 |.40 { 50
No. of
Students 3 8 17 | 20 | 22
TS / Unit-II
2. T @Hsl ¥ =gd® do1 qdE <oEe 9|
SIS :
HEY ATRR | 2.5 | 7.5 |12.5]17.5(22.5
A 7 |18 |25 |30 20
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Calculate quartile and third decile from the

following data :

Central size| 2.5 [ 7.5 |12.5]17.5(22.5
Frequency | 7 [ 18 | 25 | 30 | 20
37Yqr/ OR

frafafed gHRaen ¥ gAY fa=ea o
oo Ui I SIS

3Th

0-10

10-20}20-30

30-40[40 -50

feranferi =t S| 6

10

20

Compute standard deviation and coefficient of

variation ‘from ‘the following data :

Marks 0-101(10-20{20-30/30-40|40 -50
No.of Students| 6 10 20 9 5
318 / Unit-111

3. WY ggddy & URWtd ifSu| Tedsy
w1 9T HY Fa fea S €2
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Define Linear correlation. How the degree of
correlation is determined ?
37Yqr/ OR
= gHwl ¥ S g9 Y@d 9 it
N x 3Ry & SEIA HeF F HifST :
X 6 2 10| 4 8
y 9 10 5 8 7

From the following data obtain the ‘two lines
of regression and find the estimated values of
x and y:

x|e6l 2| a]s
y | ool 5| 8| 7

TH1 / Unit-IV
Yaohieh &1 31 TE gahich &N H A <A
I A FHSSY |
Explain Index Number and what main points

should be taken into consideration while
constructing index number.

37g4qr / OR
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fr stirel & ww = fafa g 2010 =01
YR g9 AFX 99 2016 & fauw Sfed-

[ i o

fae-=qa foeie 9Refaa Hifeg .

2010 | e (%)

s STHRT Sl HAET il 2010 | 2016
g 2 fiea |fadeat| 50 75
=Ea | 25 faeed | faeieat| 100120
FR [ 10 foiea | fodeat| 80 120
=t sfem  |f&aL| 10 10
grerel| 5 feam TR | 3 5
ad 25w | fwam | 200 | 200
ERE 25 HIX Hex | 4 5
EC] 4 foaea  |fasieaa| s 10
ferarn 1 HhM g% | 20 25

From the following data, calculate the cost of
living index number for the year 2016 with
the base year 2010 by using aggregate
expenditure method :
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(6)
Quantity Price in (%)
1em | conqumed in2010| U™t [2010 | 2016
Wheat 2 qtl. qtl. 50 75
Rice 25 qtl. qtl. 100 120
Sugar 10 qtl. qtl. 80 120
Ghee 5kg. kg. 10 10
Dalda 5 kg. kg. 3 5
Oil 25 kg. kg. 200 200
Cloth 25 metre metre 4 5
Fuel 4 qtl. qtl. 8 10
Rent 1 house house | 20 25
THT / Unit-V

5. HAEHIHR qaidaE & e gl & Saru |
i qaqaE o Tl 9 fagial @

fee=m wifsT)

Discuss the important theories of business
forecasting. Describe any two theories of
business forecasting.

37g4qr / OR
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U TH Gy %k W F
YIfTehdl A hITSIT
() T U™ R STl H AN 11 TH H
ka1 ¥ ?
(i) I 9 & B &I
(iii) BIF T T ® YIaehar F T2
Two dices are thrown simultancously.

Find the probability :

(/) What is the probability. that the sum of
the numbers of both -the dices 1s 11?

(if) Sum not to be. 9.

(iii) What 1s the “probability of getting
doublet 2
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